Post-Test Answer Key
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Trigonometry Pre-Test 2 ‘
September 2014

Enter the correct letter on your answer sheet.
PLEASE DO NOT WRITE ON TEST.

1. Change 128.433° to degrees, minutes, and seconds.
A. 128°25° 587 (;]3.:._)128° 25° 59~ C.128°25°92” D.128°26° 00~

422 (00) = 25 9% A3 () = 5RY =59
2. Write 43° 18’ 35” as a decimal to the nearest thousandth of a degree. & )
: - 1% . D5
A. 43.306° B. 43.308° C. 43.309° 6)_,.%43.3100 43T Lo 4 200

3. Give the angle measure represented by 3.25 rotations clockwise. B

(A.)-1170° B. -90° C. 90° D. 1170° <25 (»L0)

—3.25

4. Identify all coterminal angles between -360° and 360° for the angle -420°.

'@.}60" and 300° B.-30°and 330° C.30°and-330° D. 60° and -300°

Ed Y204+ 30L0= —Wb( —OF B0 230 A

5 C [

S. Find the measure of the reference angle for 1046°. i L 534

A. -56° B. 56° (c)34 D. -34° gy o

J , i g .)})’-3\[[‘4 3 o
6. Find the value of the tangent for £A4. &
B 3 pre
_ . 0 +Ho =
A. 2] (B 5 ton = H 7\
2 - - 45 #
- V. 12 N "
= a II\IL ) f?
c. 2 p, 5
3 3
A C
8

7. Find the value of the secant for ZR.

h
7 L oWHE SeCE ady

A, —
3 14 "
C. ﬁ (D,‘- E -
3 3 e

8. Which of the following is equal to csc 0 ?

Fa) B, — c. — 1
"7 sin@ cos & tan & sec @




N CLD L

9. If cot 6 = 0.85, find tan 6. 0%5
A.0.588 B. 0.85 [ c.L176 D.17
10. Find cos (-270°). Whodk S CoS o Qo -
A. undefined B. -1 C.1 { D! 0
. p # \ “/’ < BWop _ N0
11. Find the exact value of sec 300°. COS300= 4 0% TSR Sl
A 2 B. %‘@ ()2 D. ¥

12. Find the value of csc 0 for angle 0 in standard position if the point at (5, -2) lies on its

terminal side. ‘"g -
(A ,-23/2:9 p, 242 ¢ 32 A N (-2
y 7 29 5 , 29 | S L =
fap ’ '%L‘jlifﬁ &
13. Suppose 0 is an angle in standard position whose terminal side lies in Quadrant H\. If
- N |
sinezz,ﬁndthevalueofsece. Lo i~ | 'S5 |
13 1 E O | &f ‘.‘ ;.
L =3 ()=l c. -2 p. 12 s
13 . 5 5 12 .
For Exercises 13 and 14, refer to the figure. The angle of elevation from the
end of the shadow to the top of the building is 63° and the distance is 220
feet. _
SINLAZ 33¢
T e building
14. Find the height of the building to the nearest foot.
A. 100 ft (B. 196 fi C. 432 ft D. 112 ft
15. Find the length of the shadow to the nearest foot. L !
| AJ100 ft B. 196 ft C.432 ft D. 112 ft
b {i!r‘ C 5 . - _‘.'A-
Ads) © ) — . ) ) .:,.
16. Assuming an angle in Quadrant I, evaluate csc (cot” %)
A 2 (B) 2 c. - D. >
5 3 5
s Lk ;
L/";;{ T I\




w 17. Given the triangle at the right, find B to the nearest tenth of a degree if b= 10

and ¢ =14.
i".
A. 44.4° B.35.5° L
)l n
C. 54.5° (%D.)45.6° - {' C
" ‘,\,‘{a I ﬂ‘“
18 In AABC A=27°35",B=78°23,and ¢ = 19. Find a.
| Jn[‘ 45
LN ;'_'5"(- ( A 86 {Bj92 C.12.8
‘_-.f,'ﬂ

19. Determine the number of possible solutions if A = 62°, a

and b = 6.
( A none B. one C. two D. three n 2\~ <o n D
a<o DI H
Fu :‘ X {Ff-:'! )
20. Determine the greatest possible value for B if A = 30°,a = 5, . < 9.5
) and b = 8, a wo <¢l
D A. 23.1° (BJ 53.1° C.1269°  D. 96.9° ) =
\_ ./ : Hﬁ ‘._ (s ;A'i)ﬂ:ih ‘h } )
N 7 5 T8 r )
21.Tn AABC, 4 = 47°, b= 12, and c= 8. Find a. Q & /N
o A3 B.11.9 L C)s.s D. 18.4 /07 -
) W mefe e W L o e W par (
a’ £-" - ﬁ )} — )_(O)ﬂ' )(T‘ 2 )CoS -1 f\ [ =
22.Ifa= 22,b =14, and ¢ = 30, find the area of AABC.
A. 33 units® B. 121.0 units” C. 130.2 umts ( D, 143.8 units®
:.3_;}.:']3 430" ~ 2 (1Y 3)cos A hrea = Yo {'_WL‘ \ ” E ‘ Sin U3 L
A= U, L.
-23. Change 1400° to radian measure in terms of 7.
oo -t
( A 1om B. 357” C. 14% D.None of these [ ()
297 . ) G T o
24. Change —— radians to degree measure. LU RO
. >t Ar
A. 5220° ( B.141.1° C. 167.6° D. 66.6°
25. Determine the angular velocity if 0.75 revolutions are completed in/ 0.0§ seconds.
A. 4.7 radians/s B. 47.1 radians/s :! = )
C. 9.4 radians/s ( D. 94 radians/s 0.05
26. Determine the linear velocity of a point rotating at 25 revolutions per minute at a ;
distance of 2 feet from the center of the rotating object. A /aﬂ (o) imait
[ '/\ N I s il -—11.‘-{’-‘-‘131"“ ' j(j\m‘ /‘
A.26ffs /(] B3142fs (| C.521ts D.78.5 fis
Y Y A 1

_{4.&-

A<A0




27. There are 20 rollers under a conveyar belt and each roller has aj )
radius of 15 inches. The rollers turn at a rate of 40 revolutions .
per minute, What is the linear veluclty of the conveyor belt? 20
A, 37699 f/s B. 104.7ft's  C. 5.2 ft/s [ D. 62.8 ft/s

(m‘“w 28. Find the degree measure of the central angle associated with an arc that is 16 1nches
/

! long ina 01rcIe with a radius of 12 1nches e —r
1
o - \ \ A.J76.4° B. 270.0° E’ 283.6° D. 43.0°
I\ Loal' ™ | £ =N [0 16 = 12e |

1P

\'?-\f\ A\}"\ 29. 1
A \ K v Find the area of a sector if the central angle measures 105° and the
H' radius ufth& cirele is 4.2 meters. w e R
- .A_e 7.,7 lTl ( B-'/’lﬁ-z ]n_ (Jk 3:2-3 T'E]E I). 926] mz f'il" - "_' :lf k (i [’l ] ‘i‘
- 37 !}/} .2 ) L { .('"'- 0 /f
30. Write an equation of the sine function with amplitude 3, period - and © L
T C phase shift % I 3N
Y = 4y . 3x 7 . Ax 7 ¥
e A.y =43 sin (—— —) B.y= 43 sin (T_ Z) AT k= AT
== Coy=dism (3_x_ —) (D.y =+3 sin (4_x_ £) B ‘r
o= _/ 33
31. Write an equation of thé tangent function with period 3% , phase shift — % ,and
T ) 4T {J
vertical shift -2, B ;
8 K, 3 : g = ( g, 5 T :
A.y=tan (—x—i)— /B.y—tan(—x+l—) 2 ¥ H
16x 8 3m
Cy=tan (34373 _» D.y =tan (——2) -2
y S y=tn (=) -
32. State the amplitude, period, and phase shift of the function y = -3cos (3x+ 37”). -
(i 3!
- : _ e = 2
A 3m == /B- )3; 2—”;-—7r £X K = -
= 2 A 4 3 2 "1 ",
C. .-’-3;27c; 2 D. 3; 2—”,3—%
2 3 2

33. (_)Stnte. the perind and phase shift of the function ¥ = —4 tan [—1 4+ 3

AN 3 . b 5 3 37
Vi — BI, B2 D — 23
{\ bs LLUT, 4 B- .AW, 8 (,, <, g D Ty [
i [
I




34. What is the equation for the inverse of y = Cos x + 37 K SN+
A.y = Arccos (x + 3) B.y = Arccosx—3 Y~3 = | 05 3
C.y = Arccosx + 3 (D;y = Arccos (x - 3) ? . |r ? f, , 'l

V3, L

- 3 - | ™ 4 = | & ‘{ (2] -¥F "
35. Evaluate tan (Cos 17 +Tan1T) Ean (‘, O 20) = A D)

V3

AT G C.0 D. undefined
36. Kala is jumping rope, and the rope touches the ground every time | ey
she jumps. She jumps at the rate of 40 jumps per minute, and the a1 L\ g M
Povind distance from the ground to the midpoint of the rope atits " %
pEn. - highest point is 5 feet. At t = 0 the height of the fidpointjis o Hivp= a- L,
LD LB Write a function with phase shift 0 for the height of the midpoint | PR B
Ap ~ =2 of the pape above the ground after f seconds. \ el i;@i,m'\

7 ' Qy = 2.5 vos (3wt} + 2.5 B. h=205sin (3nt) + 2.5 \Lpir -Jk)y; o ?
(’}Ka\.L = _::’:' L (" C,/) h = 2 D Cas ("‘f‘““f) n E_D D h = e ) -;‘111 (*L!} 5 77_",/" E/)/k\) N V‘l‘ ‘(\ .2 ’_%
®T 2 —— | S =

2k = AT COS BIC Jadpung vOpe. f b9 %

k = ‘TL @ 37 /Find the values of x for which the equation sin x= -1 is true. \ k ;j & i*jk joind

J“ Lf A/ Rnn B. % + 27n C. n+2nn [ D. 3?” + 27n
\/ I 1 \

38. What is the equation of the graph
shown at the right? b
A. y =tan 2x %B Jy = tan 21 + ) Lo/

T

C. y = cot 2x [D/ymcot(21+ ) -

e
e
I

T

39, What is the equation of the glap]
shown at the right?

Ay= 350“.—1 B. v=2 cos dx
C.y= -2sin -:— (D. y = =2 sin 4dx
- \ e 18 "Mi A T {‘-;!_“F‘._ ¢ ) -7
sectanfd . (oS (ol ) z . > - +an ©
40.  Find an expression equivalent to ————— = - — Ly - Lh ~
\ C O% 5
sin @ L E AT

e

A. sec’0 . B. cot 6 /C. tan’0 D. cos *0




.,
. = /5
& “
= ’)\\(Dl : e 1
& J‘,T'E ) _ “' '
41.  TIfcsc 6 = —2 and 180° < § < 270°, find tan 0. -3, |
4 2 L
A -3 B. 3 C)\4 D. -4 a4 |
3 4 )3 5 —
— o 4 = \ '{/
42 tan? foscf g — 1 .EE'. @ /|
Ll : 2 g LS50 = g
Simplity tan® @ :
A cud® B. -1 C. tan?¢ / D. 1
'-V{r\.i"{":' 1 \ . A -\ P, » ( / ;
Sl .o V| o secs -\, cage
(s Y - T = == s = o ; =
= e == f",’i{i don o ‘h T E'«f’v" *310:,’“,( &
N U ; cos ¥ COS X
43, Simplify secx — 1 + secy + 1° {
p A, 2tan®x B. 2 cosx C. 2 cos?x — 1/13}.' 2 cot? x A N
CO K S¢ 'fff?”v:,\;ﬁ p Ces (x eex - | Coax(aecx) ~Cosx (=)( kol P }[" :
Se (),?y‘, = 7{\ . ‘-':;{’g? )": . [l - gff _'Z,n?g _— ﬂ = (l BN '(,_}(. — Z ( (z } ,‘/.

44, Use a sum or difference identity to find the exact value of sin 255°.

Al —\/:4—\/6 B. \/E;\fz C. \/Ei\/i D. \/Q;\@

45.  Find the value of tan (@ — B) if cos @ = —%, sin B = 5—3,
90° < @ << 180°, and 90° < B < 180°

63 63 .33 ), 33
A. G B. 56 C. 6 D. 56
46. Find a numerical value of one trigonometric function of x if
tanx _ secx _ _ 2
cotx cosx cscx’
A cscx =1 B. sinx=~%— C. cscx=~-1 D. sin:\:=%
47.

If cos 8 = 0.8 and 270° < 0 < 360°, find the exact value of sin 26.
A. —0.96 B. —-0.6 C. 0.96 D. 0.28

48.  Use a half-angle identity to find the exact value of cos 165°,
A Vo 3 B, =2V /3

C.3V2+3 D. —2V1++/3

49. If csc 0 = —%55 and 6 has its terminal side in Quadrant III, find the

exact value of tan 26.

24 7 1, 24 —
A. 9% B. 55 C. ; D. 35



